DOG20th#Hl HIEU-/ AiER

i HOME VS AWAY
S1 00zY I (00ZzY) VS S1 7170-39—-%-X (BAR 71)
1188H S1 44E/ (Be Lazy) VS S2 H# (HALF-DOLLAR)
S1 GeekB>7— (Geek) VS S2 LwH— )t>4 (Weed)
S1 44%E/ (Be Lazy) VS S1 GeekH>7— (Geek)
11H15H S2 H#& (HALF-DOLLAR) VS S1 00zY I (00zY)
S2 Lwb— )4 (Weed) VS S1 7170-39—-%—-X (BAR 71)
11H22H 1=
S1 00zY I (00zZY) VS S2 LyH— JU>4 (Weed)
114298 | S1 7170-3%9—%—-X (BAR 71) VS S1 749%/) (Be Lazy)
S2 H#& (HALF-DOLLAR) VS S1 GeekB>7— (Geek)
S1 44%E/ (Be Lazy) VS S1 00zY I (00zY)
12H6H S2 LwH— ){>4 (Weed) VS S2 H#& (HALF-DOLLAR)
S1 7170-3%9—%—-X (BAR 71) Vs S1 GeekHY>7— (Geek)
S1 GeekB>7— (Geek) VS S1 749€/) (Be Lazy)
S1 7170-39-%-X (BAR 71) VS S2 LwH— )t>% (Weed)
4818H Fiwe
S2 5#& (HALF-DOLLAR) VS S1 7170-3%9-%-X (BAR 71)
4825H S2 LyH— )t>4 (Weed) VS S1 44E/ (Be Lazy)

5H16H

S1 449%/ (Be Lazy)

S1 7170-359—%-X (BAR 71)

S1 GeekH>7— (Geek)

S2 & (HALF-DOLLAR)

5H23H




DOG20th#Hl HIEU-/ AiER

HOME

AWAY

5H30H S2 H# (HALF-DOLLAR) VS S2 LyH— )t>4 (Weed)
S1 GeekH>7— (Geek) Vs S1 7170-359—-%—X (BAR 71)

S1 7170-3%9—%—-X (BAR 71) Vs S2 H8E (HALF-DOLLAR)

6H6H S1 45/ (Be Lazy) VS S2 Lwb— )04 (Weed)

6H13H

6H20H

S2 H#E (HALF-DOLLAR)

S1 44%E/ (Be Lazy)

S2 LyH— )t>4 (Weed)

S1 GeekH>7— (Geek)

6H27H




